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1. Answer any 3 parts.” A/l parts carry equal marks.

(a)

®)

()

(@

(@

State (do not derive) the Slutsky equation appropriate
for the labour-leisure choice and use it to explain why

labour supply can be backward bending.

1
3%}
feg

A consumer is observed to buy ¢, = 22 andg, =

~at p, =2 and p, = G He is also seen to buy ¢, = 18

and g, = 4 when p_ = 3 and p, = 5. Is this behavior

consistent with WARP ?

Define Elasticity of Substitution o, where /.is labour

and k is capital. Find o, for g = 10k 2

What do you understand by “Moral Hazard” ? Explain

with the help of an example. Discuss its implications.

What do you understand by Bergson-Samuelson Social
Welfare Function ? Explain with the help of an

example.
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“ (i Assume that for two persons (A and B) and two goods

(X and Y) we have :
MRS, =2 and MRSE, =1 )

Does the allocatic;n satisfy efficiency (given that both
A and B have convex indifference cufves) ? Can there
be exchange that makes both better-off ? 1
. L
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A consumer faces an uncertain future. If he falls sick
(Pr 0.4), his income will be Rs. 10,000 but if he ferhains
healthy, his income Wi-il be 'Rs.'25-,OOQ. Show. in a-diagram
with ‘income, yvhén healthy’ on the Y-axis and ‘income
when' sick’ on the- X-axis, his bendOWment point and the
possibilities open to him if he can bﬁybinsurance at a
Re. 1 premium for-Rs. 2.5 in beneﬁts (insurance). What

will the consumer do, if he 'is risk averse ? 5.

" “The sum of price weighted excess demands summed

over ;111 markets must be identically equal to ‘vzero.”
Explain, » 4
w Il o W e T
s T AR Ts’ ST ¥ (Pr 0.4), a‘r_w%r &
10,000 T @11'1 W AR 9E W @ g ??r.
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A monopolist has contracted to sell as much of his voutpunt
as he likes to the government at Rs. 200 per unit. His
sale to the government is positive. He also sells to the
private buyers at Rs.-,300 per unit. What is the price
elasticjty of demand for the monopolist’s ‘prod-ucts Ain

the private market ? 3



« 7)) 7069

' ) | A parent brings home an 8 pjéce pizza for his two hungry
. children. The utility functions, of the two are U, = 2\/;
‘and U, =\/3c_2_ . How' will the parent divide the pigia.

(assuming it can be divided in continuous émounts)
between the children if he is :
@ a utilitarian,‘ and
(i) - a Rawlsign ? - 6
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Find and draw i.r;come expansior? path for a consumer
with u.ti'lity »fur;ction Uk, y) = In x + y. 4

Suppose there are . firms in the Cournot oligopoly model.

Let g, denote the quantity produced-by firm 4, and let

Q=g +q,+ ... + g, denote the Aaggregate'qua_ntity
of the market. Let P denote the market clearing price

and assume that inverse demand is given by :

ORI

Assume that the total cost of”firm producing quan'tify
g, is C(q) = ¢cq-; ¢ < a Suppose the firms choose
quantities simultaneously. What is the Nash equilibrium ?

What happens as » approaches infinity ? 5
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(@) The following is the payoff matrix of two firms A and

B in a pricing game :

" Firm B
Low Pricg . 'High Price
Low price 2,2 6, 1
Firm A :
‘ " High price 1, 6 4, 4

(1) . Define and find out Nash equilibrium in pure

strategies.

(i) What do you understand by dominant 4strategy ?

* Are dominant strategies being uSe;d by any of the

firms ? 4

(6)  “In the case of production externalities, the optimal pattern

of production is independent of the assignment of property

rights.” Discuss. S
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6. (a) Consider the production function g = A*/'? where / is
‘labour and k is capital. Suppose the wage rate is

= 2 and rental rate is r = 2.

() Find the equation of the long-run.total cost

function.

(i) In the short-run capital is fixed at 16 units. Find

the short-run total cost function. 4

(b) What do_you understand by the “free rider” problem ?

- Explain with the help of an example." 5.
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